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Read the passage carefully and answer the questions as follows.

	Ben was excited. He was going to choose a pair of roller blades from the sports shop. They were his father’s reward for his good performance in school.
	He chose a pair of luminous green and purple roller blades with matching helmet. His father picked up a pair of knees pads and elbow pads for him.
	Ben went roller blading in the nearby park. After falling down a few times, he finally managed to balance properly.

Questions: 

1) How did Ben’s father reward him?
a) He brought him to the sports shop.
b) He took him to the nearby park.
c) He bought a pair of roller blades for him.
d) He chose a pair of knees pads and elbow pads for him.

2) Ben chose a 
a) Luminous yellow and red helmet.
b) Luminous purple and orange helmet.
c) Luminous green and purple helmet.
d) Luminous pink and blue helmet.

3) What is he use of the knee and elbow pads?
a) To help Ben balance.
b) To allow Ben to move his arms and legs better.
c) To help Ben to feel comfortable while roller blading.
d) To protect Ben’s knees and elbows from injury.

4) Where did he go to roller blades?
a) The nearby park.
b) The open field.
c) The sports shop.
d) The void deck.

5) Ben is not experienced in the roller blading because
a) He needs to wear a helmet.
b) He fell down a few times.
c) His pair of roller blades is new.
d) He went to the park to roller blade.
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